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( D )10. Amy's monthly allowance is $320, how much is half a year's allowance for her?
(A)1860 (B)1440 (C)1620 (D)1920
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( B )14. There are five colored papers on the table, red, orange, yellow, green, and blue.
There are 7 red colored papers, and 3 more orange colored papers than red ones. There
are 5 more yellow colored papers than orange, and 3 less green colored papers than
yellow. There are 2 less blue colored papers than yellow. Which of the following
statements is correct? (A) Red colored papers are the most of them. (B) Green colored
papers is 1 less than blue ones. (C) Yellow colored papers is 8 less than red ones. (D)
Blue colored papers are the most of them.
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( B )19. A multiplication formula, the same symbol represents the same number, and
different symbols represent different numbers, please complete it to find the answer.
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(¢ )23. The right column is the division of positive integers, the remainder is 7, and the
number in the bold box is not 0. Find a+b-c-d=? (A)3 (B)4 (C)5 (D)6
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